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OY sty Aot X & 15,400,000 = 1Al 15,400
& 4,620
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= 23,690
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J| 15,000
< 9,000
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LAHZBHHA 25t 78,206 0 78,206
402 RI2EX=20| A 78,206 0 78,206
01 RIZEAI2E X 78,206 0 78,206
OdttetHl 2 AEYA 23 =2
12,000& *3,600kg*50/100 21,600
OdEtsIl HAEPAXA
82&*1,136,600H*50/100 46,601
OBFLNSEE As ¢ M &
3,000& *6,670kg*50/ 100 10,005
SAEFNA 650,660 1,857,250 A 1,206,590
J| 99,930
= 102,550
Al 448,180
FEYALMLSEAY 74,500 111,050 A 36,550
< 22,350
Al 52,150
402 QI2H X201 M 74,500 111,050 A 36,550
< 22,350
Al 52,150
01 RIZEAt=2E X 74,500 111,050 A 36,550
OJI=ds e 2ASIHAE X
10,000, 000& * 14 10,000
S 3,000
Al 7,000
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Al 22,400
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301 et a = 53,050 7,400 45,650
09 AL HIZ &S 1,000 1,500 A 500
ON=TY oY I8 L A AT 2
& 10,000& 10021 13l 1,000
MIIEEE=S 52,050 5,900 46,150
Ol Xz 88X Z4X 24
7,000 *102! 153 1,050
OdHE =2 s8¢ 20,000& 505 1,000
OF M BHAFES Al=tl 50,000,000 =14 50,000
302 Ol THoH E&F = 23,500 47,000 A 23,500
02 RIZIOITHOH 2 & = 23,500 47,000 A 23,500
OR0l, HESH BA(SA)
47,0003 «5001«10 23,500
307 gl2tol & 21,000 78,496 A5T7,496
05 RIZHRI & 3 21,000 78,496 A5T7,496
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402 2I2H X201 M 12,500 0 12,500
01 RIZEAt=2E X 12,500 0 12,500
OFADEE L AAL XA
5,000, 000& *5H £ *50/100 12,500
=g leE & =2 =& 39,600 42,000 A 2,400
301 LA Z 36,600 36,600 0
09 BAEHIE &S 600 600 0
OZ==2 ol 60,0003 501 +23] 600
MIIEEd=S 36,000 36,000 0
O3 =¢ 600,000& 501 x12& 36,000
307 21201 A 3,000 2,400 600
06 2= 3,000 2,400 600
OB49 2 BELALAN 2E2
500,000& 621 x13] 3,000
2242 olgatel 89,262 103,062 A 13,800
202 044l 4,000 4,000 0
01 SLHOYI 4,000 4,000 0
Oy oeg = 20,000& »2003! 4,000
206 M= Hl 74,200 88,000 A 13,800
01 =8l 74,200 88,000 A 13,800
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Al 29,619
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O HE 1Al 38,620,000& » 14! 38,620
J| 19,310
< 3,862
Al 15,448
OS2 HE 294l 35,427,000 14! 35,427
J| 17,713
< 3,543
Al 14,171
LS ASASAA 27,660 24,020 3,640
< 2,746
Al 24,914
206 M= Hl 27,660 24,020 3,640
< 2,746
Al 24,914
01 M= 4l 27,660 24,020 3,640
OF4 MPsIH A524F N
27,660,000 » 14! 27,660
= 2,746
Al 24,914
HeEEXA X 42,408 42,408 0
< 12,680
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< 3,000
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= 3,612
Al 14,446
301 et A= 66,948 0 66,948
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= 12,600
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Al 8,750
ISR ANEEE B 36,000 40,000 A 4,000
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